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Solve for x

32x+1 _ 4(3x+1) +9=0

32¥31 — 4(3*3)+9=0
(39)23-4(3%3+9=0
3(3)2 -12(3%)+9=0

3m?—-12m+9=0 Divide both sides by 3!
m?—4m+3=0 let m = 3%

m-—1(m-3)=0

m—1=0 m—3=0

3m?—-12m+9=0

32x+1_4(3x+1) +9=0 32x+1 — 32X31
3(3%)2 - 12(3%) +9 =0

4_(3x+1) — 4(39631)

- (393! =12(3")

— 3(39:)2

m=1 m=3
* =1 3% =3
3x=30 3x=31

AR D

32x+1_4(3x+1) +9=0

32x+1 _ 4(3x+1) 4+9=0

32(0)+1 _ 4(3(0)+1) +9=0 32(D+1 _ 4(3(1)+1) +9=0

3'-4(3)+9=0
3-1249=0
0=0

10*—4(5%) —5(2*)+20=0

2% X 5% — 4(5%) — 5(2%) + 20 = 0
mn—4n—-5m+20=0

(mn —4n)(—=5m+20) =0
nm—4)—-5(m—4)=0
n—=5m-4)=0

n—5=0 m—4=0
n=>5 m=4
5¥=5 2 =4
5x=51 2x222

< ENGED

10% — 4(5%) — 5(2%) + 20 = 0
101 — 4(51) = 5(21) +20 = 0
10-20—-10+20=0

0=0

33-4(32)+9=0
27-364+9=0
0=0

J/

letm = 2% letn = 5%

Group

10% — 4(5%) — 5(2%) + 20 = 0
102 — 4(52) = 5(22) +20 =0

100-100—-20+20=0
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10* = (2 x 5)*
=2%* x 5%
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